Math 2013 Practice Quiz 3 Fall 2011

Name: Last , First

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
You must show your work to get credit

Evaluate the integral.
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Integrate the function f over the given region.
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Find the volume under the surface z = f(x,y) and above the rectangle with the given boundaries
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Evaluate the integral,
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Integrate the funchion f over the given region,
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Write an equivalent double integral with the order of integration reversed.
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Reverse the order of integration and then evaluate the integral.
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Find the volume of the indicated region. Oj(\}_/
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18) the region bounded by the pamboimd 2= 100 ~ x2 = y2 and the xy-plane )
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